D)13= @ 15.9 ® 164 @ 18

O
o
s
>
rr
T
o
u
N
T
.
kl
S
1
)
)
N
T




2.

RS

O 48

Zo|| A 46 23} 51 n|ukel 2=

1
50—
@ 2

46 =3} 51 m)9kel

7hobd A
@46 @ 476
FollE 467 512 ZFER] k5




TR SH419] 59] W92 FIE AL ol A7

< 1 1 O 4 . 4 I 1
) 1 ~ 1 ’ 1

55 56 57 58 59 60 61 62 63 64 65

y

@ 5705t 62 27 @ 577} 620]qt
® 57%1} @ 570)/ 62m]gt
@575?} 62 ©]s}

7} o =0]5}= eI B & 57 21} 620]5}81 £ T,




W sto] o] Ae)7kA) vekd ), 200000] H 58 2L,

O 19498 @20431 ® 20503
@ 20684 ® 20850

~&B

19498 — 19000
20431 — 20000
20503 — 21000
20684 — 21000
20850 — 21000




5. 15 300717 9] 2He4 Fol A Ale] Ao 4 W dsted 200 ©]
-~ B TR K-S
e il

>
> =EF 10074

150 58 24972 o] 4=QJu o,
ohebA 100 7RG U T




=
o

ol@ 45 e este] 49| Aerix ver
Qo) A2 744 ErhE Y 9000 0] H %
ZolA A1 2 o} A Ao 48 Adm 77 AL 1249,
D 9495, 8495 @ 9494, 8494 @ 9490, 8490

(@)9494, 8495 ® 9494, 8485

Hpo 2

=

Sho] o] 2t 7kA] U 471 9000 0] B &, W75}
Mo 71 & $E 94940] 1, *

71 2o 8495 Y t}.

A~
o 1 T




<2 7HE2 11 Al W, S Y, i i“ 9l Quf, BRI, 65
AlelAl °“3M S Zste] 6 YUY 71 BT =] FAte| 7=
stagueh. 2 7hEo] 7kt ofghel] sk 1 aFe] At
L DIRE
(=91 9)
= = 5] = 5 A o] AF

a3 | 254 |3 nse| 200 ol | eom o1

F7F | 15000 19000 24000 12000

of7F | 13000 16000 20000 10000
> = 3 %
> Hgh 18000 ¢

B \
oF7t o] 8-H9 8 FE 747 FotH
1 13000 ¥, 0114 : 16000 4, gmi}' 16000 ¥,
Au} 1 20000 Y, o 20000 Y, Y 1 10000 Y o] B2
% ks 95000 LT
F7r ol g4 838 47 F5tH
L} 1 15000 9, 0114 1 19000 ¥, QHB}' 19000 4,
dat 1 24000 9, oF#k 24000 ¥, TFHY : 120004
% S5 113000 Yd Yt waka 74 of7ke] @ 2 9]
=
113000 — 95000 = 18000 () o]t}




4w 2@
i wo m>

> =ehr 110x3F 11799t

2o 1184 E& AW 1197 ZoflA 1170 HA] gfonz
(11 x 10) &3 (11 x 11) 7|9k — 110 &3} 121 9|7t

gF o 134 E2 AW 9HIA S04 1370 Hx| ggoB
(13 x 8) =7} (13 x 9) BT — 104 2} 1179]9k

weba] T 0] M9l F-FH = 1102} 117 7| 9hd Yo




old] st ef 45k S 5 Lo Aol A W2 ST Y 280

2t ek, o] sEA A 2274 UHro] 2l F
LS AR A FHlstE Hojk 2 7je] dHE& FH|sfof
A]

M we O oM
N

3

AL

O R of rlo

>
> == 56870

280 B2 W& ot Ao B2 275 ~ 284 7HA| 9] A7t TS
it

uheba] SHY 7t 71 Brhal 7Hg st 284 7o H L FHsfof
SH= A™ o] 4= 284 x 2 = 568 /P Yt




10. 30 °]4F 100 ©]5F] #AFA=2] gt 30 2 100 1]
S A L.

>

> =g 130

a
pid

o
jid

Ai5e] ¢

~&B

30 o] 100 ©]5kl ApA4:
30,31,32,---,98,99, 100

30 &3+ 100 V| Tl AFA S

: 31,32, -, 98, 99

wr2bA, 30 ©]AF 100 ©]5}HS1 AFe14=9] gho]
30 2 100 9] €l 30 + 100 = 130 W=

o Yt




